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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
SlcHoropoicbke 29 11 4,6 8C3(56)2C3(46)+C6 56 0,80 1 19 24 300 3e BuGipkoBa | nouuxomkeuns 24 3rigHo
ScHoropoachke 30 7 72 10C3 48 0,70 1 17 22 220 3e caHiTapHa {croBOypoBuMH 24 marepianiB
Slcuoropocbke 31 16 6,9 10C3 49 0,70 1 20 24 300 2e pybka WIKEHUKaMU 26 JICBNOPAAKYBaHHA
SIcHOrOpoIChKE 35 15 34 8C3k 1131 bn+Oc 53 0,80 | 20 24 300 3e o KOpeHeBa 24 HE BUABJICHO
SlcHoropoacsxe 35 16 8,3 10C3x 59 0,80 I 22 26 390 3e ‘- rybka 23 R
SlcHoroponcbke 35 17 2,8 10C3x 59 0,80 11 18 22 290 3e B Bl 21 =
SlcHoropoacske 37 3 11,0 10C3 59 0,70 1A 26 28 400 3e “n AOLLKOHKEHHA 20 <
Slcoropoacbke 37 4 1,1 10C3 48 0,80 1A 20 26 320 3e - cToBOYpOBHUMYU 22 =
SAcuoropoacexe 42 7 0,7 10C3+]13 54 0,80 1 19 24 300 de - WIKIAHKUKaMU 30 -
SlcHOroposachke 45 7 1,6 10C3+bn 48 0,70 1l 17 20 220 3e “ e 29 Bt
SlcHoroponcbke 45 8 7,0 10C3 52 0,80 11 17 22 260 3e - - 28 Bl
Sicuoroponcbke 45 11 2,6 10C3 52 0,80 I 17 22 260 3 - B 23 -
SlcHoropochke 46 22 32 10C3 57 0,80 1A 25 32 430 3e - B 24 £
Slchoropoichke 46 24 2,8 10C3 61 0,70 1 22 26 320 3e B - 26 £
SICHOrOpoAChKE 46 26 0,9 10C3 61 0,70 I 22 26 320 3 Bt o 20 R
SlcHOroposCchKe 50 20 1,4 10C3+/13+bn 71 0,80 1 21 26 340 4e - “ 22 “
SICHOTOPOACHKE 53 6 0,3 10C3 75 0,60 1 25 36 320 4e B £ 28 E




1 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
SlcHoroponceke 56 19 6,8 10C3 51 0,80 I 16 22 230 3e BubipkoBo- | nouwcomxenss 23 3rigHO
ScHoroposcske 56 20 3,6 10C3 56 0,80 1A 22 26 370 3e CaHiTapHi | cros6ypoHMM 26 Marepiais

Kartioxancoke 7 20 1,9 8C32]/I3+bn 121 0,60 I 27 36 330 2¢ pyOKu WKiTHHKAMY 21 JLiCBIIOPS Ky BAHHSA
KartioxaHcbke 12 16 10,5 10C3+/I3+bn 91 0,75 I 26 32 420 2e e - 20 HE BHUABJIEHO
Karioxancrke 12 26 0,6 SC3(5T)AC3(71)1Bn+113 57 0,70 I 18 20 260 2e -a et 23 =&
KaTioxaHchke 26 6 9.3 10Ca+]13+bn 62 0,80 I 22 28 380 2e - = 25 B
Katioxanceke 28 23 11,0 10C3+bn * 61 0,85 I 21 24 363 2e - - 26 -
KaTioxaHcbke 38 20 0,8 10C3+I3+3+bn 91 0,70 1 28 32 440 2e = € 23 o
KatioxaHcbke 49 9 0,8 10C3+3+bn+Oc+Biy 81 0,70 IA 28 40 440 2e “ = 23 B
Kattoxanceke 68 3 22 10C3+bn 66 0,70 I 24 28 360 2e e - 25 o
Karioxanchxe 68 16 2,3 10Cs+I3 63 0,70 I 22 24 320 2e < & 23 s
KartioxaHchke 68 18 3,7 8C32Bn+/[3+0c¢ 91 0,60 I 27 36 320 2e -5 = 25 Ea
Katioxancbke 83 22 0,6 5C35]13 54 0,70 1A 22 24 270 2 “a = 23 R
KarioxaHcbke 83 23 2,0 10C3+)13 61 0,70 1A 24 28 360 2 “ - 23 “o
KatioxaHncbke 83 24 0,4 10C3+I3+bn 101 0,60 1 27 40 360 2 - = 28 “a
Katioxancoke 84 18 1,0 10C3+bn 77 0,70 I 26 28 400 2e 25
Kattoxancbke 86 1 2,0 8C32]13 71 0,70 1A 28 32 410 2 B = 22 u
Karioxanceke 86 2 1,9 10C3+[3+bn 81 0,70 1A 30 32 480 2 = - 26 <
Karioxancske 86 4 7,8 5C33bn20c+/3+13 81 0,80 1A 28 32 360 2 “ - 25 B
Katioxanceke 86 17 1,3 6C32/131bn1M3+Bnu+Oc 66 0,70 1A 25 28 250 2 - By 27 LEe
Karroxanceke 86 19 1,4 5C32bn2i313+0c+Knr 64 0,60 1A 25 28 220 2 s -5 29 B
Kartioxanceke 89 26 0,3 9C31 I3+bn+13 66 0,60 1A 25 28 310 2 = - 20 .
Karoxancoke 89 27 0,5 9C31/03+Bbn 67 0,50 I 24 28 250 2 “o “ 21 o
Kartioxancbke 89 29 0,8 8C31/1315n 65 0,70 I 23 28 280 2 =< - 23 B
Pynusauceke 1 20 33 10C3 51 0,70 I 15 16 190 4e et = 30 -
Pynusucexe 2 15 49,0 10C3 51 0,70 1A 21 20 300 de B - 30 =
Pynusucoke 3 19 0,6 10C3+13 55 0,70 I 21 22 300 4e Bt e 30 P
PynusHcbke S 2 14,4 10C3 55 0,80 I 21 22 370 de - = 30 -
Pyzausncexe 5 8 29 10C3 51 0,70 1A 22 22 320 4e B £ 30 o
Pynusuceke 6 1 16,3 10C3 56 0,75 1 21 22 320 4e < - 30 B
PynHsHCbKe 6 14 3,1 10C3 61 0,70 I 21 22 300 4e - - 30 -
Pynusinchke 6 20 9,7 10C3 56 0,70 I 21 20 300 4e - - 30 -
Pynusnceke 6 33 2,5 10C3 61 0,65 I 20 24 260 4 -a a 30 “
Kamsuceke 3 6 1,5 9C31bn 86 0,55 I 27 36 310 2e s “ 25 -
Kamsnceke 3 23 29 6C3(90)3C3(60)1En 90 0,70 I 27 36 375 2e o . 20 £
Kamsuceke 8 4 1,2 8C32[l3 80 0,55 1A 30 40 340 2e a “ 27 -
Kamsucbke 8 6 0,4 9C31 /13 74 0,55 1 30 44 370 2e ) - 29 £
Kamsincbie 12 2 13,0 10C3 50 0,75 I 20 24 315 2e -5 e 25 “
Kamsucrke 17 1 35 7C3(110)3C3(90) 110 0,70 1 31 40 464 2e = - 30 “
Kamsucoke 17 13 2,5 9C31Bbn 61 0,75 I 22 26 345 2e “ - 25 =
KamsHceke 18 11 4,6 7C321316n+0c¢ 56 0,75 1A 24 28 340 2e e K 25 B
Kamsncoke 18 24 38 8C32/I3+bn+sne+Oc 64 0,70 1A 26 30 390 2e - - 27 “.
Kamsincoke 19 16 0,7 6C34/13+13 110 0,65 I 31 48 390 2e = - 29 =
Kamsnceke 19 21 54 10C3+[13+I"3 85 0,55 1A 29 36 370 2e “ = 30 s




1 2 3 4 6 7 8 9 10 11 12 13 14 15 16 17 18 19
KamsHchke 22 6 34 7C3313+bn 91 0,60 1A 30 40 370 2¢ Bubipkosa | nouwixomxenns 26 3riHO
Kamsucbke 28 18 4,7 6C32JI32B5n+0c¢c+3 76 0,70 1A 27 36 350 2e caHiTapHa | croBGypoBuMH 24 MatepianiB
Kamsucoke 28 19 45 9C31I3+bu+l3 71 0,75 1A 26 28 420 2e py6ka WIKIAHUKAMH 23 JiCBHOPAAKYBaHHA
Kamsuceke 34 4 6,2 6C34[13+bn+"3 105 0,55 1A 31 44 350 2e < - 26 HE BHABJICHO
Kamsnceke 36 10 0,5 10C3+/I3 56 0,70 1A 24 26 364 2e = “ 30 <
Kamsincbke 41 15 2,7 10C3+bn+/I3+I'3 76 0,40 1A 29 36 310 2e - B 20 ‘
Kamstcoke 41 17 3,2 10C3+[13+bn 91 0,65 1A 31 40 480 2e ‘- N 26 .
KamsHcbke 45 24 2,0 TC33M3+Bn+3+Knn 131 0,50 | 32 48 340 2 =5 = 31 “
Kamsucbke 46 15 1,2 9C31 [13+b50 76 0,70 1A 28 32 430 2 - “ 35 ¢
KamsiHcbke 47 28 0,4 10C3+/I3 76 0,70 1A 28 30 440 2e “ “ 28 -
KamsiHcbke 47 30 0,5 8C32/13 75 0,70 1A 27 32 390 2e . £ 25 B
KamsiHCbke 63 4 1,0 10C3 51 0,40 1A 23 26 260 2e - * 31 u
Kamsnceke 63 6 11,0 10C3+[I3+Ane+bn 51 0,70 1A 23 26 380 2e ‘- £ 30 -

73 29 10,0 10C3x 61 | 08 | 1A 23 2 390 2e Kopehiesa 25
Kamsncsre rybOka
KamsHcbKe 83 8 6,5 7C3(100)3C3(130) 100 0,45 1 28 40 294 2 e MOLKOMKEHHS 26 e
cToBOYpPOBUMH
KamsHonie 86 13 54 10C3+bn+Ak6 130 0,30 H 25 44 140 2 Dt LIKIAHUKAMH 30 a
P 30 10 1,0 10C3x 61 0,75 IA 25 28 420 ”e K°f‘;2‘::" 25
Pasom 354,8 0,0 0,0
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